AR (REEEXREEREERBHRMN

HMOTE % REE IR #E Ef&E(nd) it N
BETTRMETES/ £ 300% 43 147 ik 125 (=¥ 95
BHRTTRMAETTS/ L 302%H 43 145 LAk 922 =¥ 50
BETTRMEES/ £ Z302% 43 146 b 254 |xF 43
BETTRAOEES/ £ 307%&1 43 144 REF 239 [wv (2¥) 50
BHEB TRMAEFES /A 309%&1 43 142 Ltk 1,387 |ZoftL(e /) 40
BHETTRAOEES /A 310% 43 141-1 Ltk 1,623 |e/* 43
BHETTRAOETES /A 311% 43 141-1 Ltk 2,168 [/ % 43
BHEM TRMAEFESE /A 343% 43 127 LAk 1,914 |=x¥ 53
BHETTRAOEES /A 345% 43 126-2 Ltk 2,102 (=¥ 45
BHETTRAOEES /A 347% 43 125 Ltk 5,788 |wv (R¥) 49
BETTRAOEES /A 354% 43 118 Lk 790 |[Zofhi(e / *) 63

43 114 /% 43
BHBTRMATFEE /A 355% 43 116 Lk 5523 |k ./ * 44

43 117 b/ % 44
BHETTRAOEES /A 357% 43 112 Ltk 1,276 |e/ % 43
BHTTHRAOTES/ EA 388% 43 93 Lk 542 |Z DM (RF) 63
BHTTHRAOETES/ EA 389% 43 92 Ltk 1,216 |=v (R¥) 54
BHTTHRAOTES/ EA 390% 43 92 Ltk 2,826 |wvV (R¥) 54
SBET TRMETER/ A 485%F 43 76 Lk 1,699 |ZoME (XRF) 55
SBET TRMETER/ A 516% 43 36 Ltk 376 |xF 53
SBET TRMETER/ A 517% 43 34 Ltk 135 [=v (2¥) 53
SBET TRMETER/ A 518% 43 34 Ltk 647 |7V (R¥F) 53
SBET TRMETER/ A 521% 43 33 Ltk 310 [x¥ 43
SBET TRMETER/ A 522% 43 32 Ltk 879 |[x¥ 56
SBHRT TRMETFE /A 523% 43 37 LAk 274 |xF 55
SBET TRMETER/ A 526% 43 31 itk 938 |[x¥ 55
SBET TRMETER/ A 534% 43 46 itk 459 |[zF 65
SBET TRMETER/ A 535% 43 30 Lk 482 |z ¥ 58
SBET TRMETER/ A 549% 43 30 Lk 208 |[xF 58
SBET TRMETER/ A 551% 43 29 Ltk 628 |RF 65
SBET TRMETER/ A 552% 43 18 Ltk 2,198 |wv (R¥) 57
SBET TRMETER/ A 553% 43 19 Ltk 1,890 |xF 57
SBET TRMETER/ A 5547 43 21 ik 304 =¥ 57
BHRTTRMETFE /A 558 43 17 LAk 697 |x¥ 58
SBET TRMETER/ A 568% 43 17 Ltk 4,495 |=¥ 58
SBET TRMETER/ A 508% 43 64 Ltk 2,072 |[==¥ 63

43 60 ¥ 54
BEH TR /A 511% i UL 1 | ess 2T >

43 61-2 /% 19

43 62 2 F 63
SBHRTTRMETFE /A 527 43 43 Ak 1,477 |[=z* 57
SBET TRMETER/ A 531% 43 44 Lk 985 [xF 55
SBET TRMETER/ A 532% 43 44 Ltk 4,009 =¥ 55
SBET TRMETER/ A 533% 43 44 Lk 1,533 |RF 55
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43 28 2 F 53
SBHETTRMETFAE /A 537& 43 44 LAk 2,310 |=¥ 55

43 46 2 F 65
REGTRAMEE, A | 5388 i h i | 2363 B >

43 46 2 F 65
SBHRTTRMETFE /A 539%& 43 44 LAk 3,064 |x¥ 55
BETTRMETES/ LA 365% i i ik 1,097 Xﬂi >

43 100 2 F 55
BHT TRAOEES/ EA 415% 43 57 Ltk 396 [xF 64
SBHRTTRMETFE /A 483% 43 77 Lk 95 (%= ofth=ER 64
BHTTRAOEES/ EA 402% 43 87 Ltk 142 |=v(&x¥) 44
BHTTHRAOEES/ EA 403% 43 85 Lk 770 |xF 60
BHBTRATTE / A 327& M 43 111 REF 889 |ZDMIL(XF) 58
BHETTRAOEES /A 330&F 43 135 REF 1,279 |R¥ 49
BETTRAOETES /A 340% 43 133 Ltk 1,613 |&¥ 52
BHETTRAOEES /A 360% 43 106 Ltk 2,628 (=¥ 56
SBET TRMETER/ A 504 43 67 Ltk 2,003 |[ZzoME (X¥) 66
SBHRTTRAETFE /A 4843 43 77 LAk 2,376 | Z DL EER 64
BHRTHTRATTE /) ATAZE 43 72 ik 624 |ZoME (RF) 66
SBHRTTRMETFE /A 490% 43 72 LAk 1,309 | Z DL EER 66
REGTRAMEE, A | 5438 i e | 5530 B 60

43 49 2 F 54
SBET TRMETER/ A 550% 43 28 Ltk 1,080 |xF 53
BHTTHRAES/ EA 406% 43 52 Ltk 1,219 |Zzofh (RF) 63
BHTTHRATES/ EA 425FR 43 81 Ltk 846 |xF 43
SBET TRMETER/ A 513% 43 38-1 Ltk 148 |=R¥ 53
SBET TRMETER/ A 514% 43 38-1 itk 284 |x¥ 53
SBET TRMETER/ A 515% 43 36 itk 409 |[x¥ 53
BHETTRAOEES /A 334%1 43 129 b 310 =¥ 57
BHETTRAOETES /A 334%2 43 129 REF 327 |x¥ 57
BHETTRAOEES /A 334% 2 43 129 REF 710 |[xF 57
BHETTRAOEES /A 335% 43 130 ik 1,424 |=¥ 95
BHTTHRAOETES/ EA 364% 43 101 Ltk 449 |z ¥ 55
BHTTHRAETES/ EA FH382% 43 95 Ltk 1,028 |x¥ 57
SBET TRMETER/ A 577% 43 38-2 Ltk 876 |xF 55
SBET TRMETER/ A 519% 43 36 ik 357 |[xF 53
SBET TRMETER/ A 529% 43 40 Ltk 128 |=R¥ 68

43 41-1 2 F 53
SBHETTRMETFAE /A 530%& 43 41-2 LAk 2,357 |=v (R¥) 53

43 42 2 F 83
BETTRMETES/ £ 294% 43 147 REF 241 |x¥ 95
BHTTHRAOFTES/ EA 383% 43 94 Lk 565 |~V (%) 59
BHTTRAOES/ EA 385% 43 97 Lk 1,623 |ZzofE (RF) 64
BHTTHRAOFES/ EA 387% 43 96 Ltk 19 |=¥ 71
BHETTRAOEES /A 339% 43 135 Lk 1,087 |x¥ 49
SBET TRMETER/ A 492% 43 69 REF 690 |RF 55
SBET TRMETER/ A Z492% 43 71 Lk 310 |(ZzofL (X¥) 40
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HROTE % REE IR #E Ef&E(nd) it N
SBET TRMETER/ A Z501% 43 69 I 409 =¥ 55
BHTTHRAOES/ EA 384% 43 96 Ltk 535 |RF 71
BHEBTRMEFS, EA | 386% 43 93 ik 2,234 | Z OfIL(XF) 63
BHTTHRAOEES/ EA 399%2 43 85 Lk 608 |RF 60
BHTTHRAOEES/ EA 399%& 43 85 REF 201 |[x¥ 60
BHTTRAOEES/ EA 409% 43 55 Ltk 786 |xF 64
BHETTRAOEES /A FH333% 43 129 MOEM| 1,123 [RF 57
BHBTRATFTSE / A 341% 43 128-1 Lk 2,965 |ZDME(XF) 47
SBHRTTRMETFE /A 486% 43 74 LAk 882 |% oL 10
SBHRTTRMETFE /A 487 43 74 Lk 608 | % o fth L EEH 10
SBET TRMETER/ A 489%F 43 73 Lk 561 | % Dfts/iZEHs 10
SBHRTTRMETFE /A 502% 43 o ik 2,142 i °°

43 70 Z oML (=) 55
BHRTTRMETFE /A 503%F 43 o LAk 1,024 i °°

43 70 Z oML (=) 55
BHET T RMETFE S/ A 5053 i o0 ik 872 Xﬂi >0

43 68 2 F 43
SBET TRMETER/ A 559%1 43 13 Ltk 204 |x¥ 63
SBET TRMETER/ A 5592 43 12 Ltk 1,173 |x¥ 63

43 9 Z DML (XF) 55
BETFRANTE, A | 5608 | O | e B 43

43 11 2 F 60

43 13 2 F 63
BETTRAOEES /A 338% 43 132 b 297 |x¥ 44
SBET TRMETER/ A 497% 43 69 b 680 |RF 55
BHTTHRAOES/ EA 381% 43 98 Lk 2,323 |2z DA (RF) 65
BHTTHRATES/ EA 395% 43 84 itk 1,322 |x¥ 63
BHETTHRAOETES/ EA 4078 43 53 itk 79 |xF 54
BHTTHRAOEES/ EA 408% 43 54 Ltk 294 |xF 63
BHETTRAMATFS/ EA 401%& 43 87 LA 4714 |=V(RF-TY) 44
BHRTTRMETFE /A 510%& 43 il ik 1,761 Xﬂi o

43 59 2 F 63
SBET TRMETER/ A 546% 43 27 Ltk 1,223 |&¥ 59
SBET TRMETER/ A 548% 43 28 Ltk 1,781 |x¥ 53

43 19 ¥ 57
BHETTRMETFAE /A 555%& 43 20-1 LAk 1,444 |[z% 58

43 20-2 2 F 40
SBET TRMETER/ A 556 43 19 Ltk 158 |=¥ 57
SBET TRMETER/ A 557 43 19 Ltk 257 |x¥ 57
BHETTRAOEES /A 362% 43 102 Lk 4,165 |=¥ 55
BHETTHRAFES/ EA 363% 43 103 Lk 462 |=v (R¥) 55
BETTRMEES/ £ 301% 43 147 Lk 238 |[xF 95
BHETTRAOEES /A 312% 43 141-1 Lk 1,223 |e/ % 43
BHTTHRAOFES/ EA F418% 43 80 REF 826 |xF 57
BHTTHRATES/ EA 418%&2 43 80 Lk 254 |xF 57
SBATTRAOETFS ./ EA 418%3 43 80 LAk 667 |[=¥F 57
SBHTTHRAFTES/ EA 419% 43 79 Lk 2,657 |[=¥ 35
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HROTE % REE IR #E Ef&E(nd) it N
BHTTHRAES/ LA 420% 43 79 Ltk 413 |z ¥ 35
BHTTHRAOES/ EA 421% 43 78-1 Lk 4,456 |Z DML (RF) 40
BHTTHRAOETES/ EA 423% 43 78-1 REF 955 |Z DML (RF) 40
BHTTHRAOEES/ EA 424% 43 79 Lk 145 (=¥ 35
BHTTHRAOEES/ EA 425%1 43 80 Lk 806 |xF 57
BHTTRAOEES/ EA 425%&Z 43 81 REF 2,786 [z ¥ 43
BHTTRAOFES/ EA 4263 43 80 Ltk 330 [x¥ 65
SBET TRMETER/ A 499%&1 43 61-2 il 1,004 |/ % 19
SBET TRMETER/ A 6272 43 1 Ltk 680 |=v (R¥F) 56
SBET TRMETER/ A 628% 43 1 Ltk 145 =V (Z¥) 56
SBET TRMETER/ A 629% 43 1 Ltk 482 =y (2¥%) 56
SBET TRMETER/ A 63082 43 1 LAk 522 |=v (%) 56
SBET TRMETER/ A 630% R 43 1 Lk 568 |wv (R¥F) 56
SBET TRMETER/ A 631% 43 1 Lk 49 |=v (&F) 56
BHRTTRMAETTS/ £ 293% 43 147 LAk 277 |x ¥ 95
SBHRTTRMETFE /A 491% 43 71 LAk 2,667 | Z DL EER 40
SBET TRMETER/ A 528% 43 37 Ltk 1,801 |x¥ 55
SBET TRMETER/ A 54582 43 26 Ltk 618 |RF 65
SBET TRMETER/ A 5208 43 35 Lk 661 |XF 53
SBET TRMETER/ A 524% 43 37 Lk 591 | ¥ 55
SBHRTTRMETFAE /A 525% 43 37 LAk 621 |x¥ 55
SBHRTTRMETFE /A 567% 43 14 LAk 214 =¥ 63
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